THSHEE BEREXRCKEHRERENREDES)

EH H X 7K /N il BAA L
— 8:30 - - -
N ZHROEE == . ' R/ R/ AME 8:30
L 8:45 1 EEJJ/MEW (o A EDE) BRI L BMIAL 7‘/1‘%_?_?&%5;»/
B Bos Bns Bne Bqoe EE TP
899 1 8-40
9:40 1 2 3 4 5 9:25
9:45 2 9:30
LR (209 154
—10:50 KA BER (207) ( 7:1)10.
3 :30
11:35 11 12 13 14 15 11:15
11:40 4 11:20
L1905 16 17 18 19 20 12:05
. A B i 7 12:55
—13:15
L 13:35 KA (205) (15%)
' 5 13:10
14:20 21 22 23 24 25 13:55
14:00
14:25 6 BYDL
B OB
15:10 26 29 27 28 14:45
' ;4;,42 BYDE | RYDE | IRYDE | RYDE
=Z=H=ZX =E ﬁ'a :%a ?T-E'ﬁ :%a ﬁ:i, :%s ;,Faﬁ.
—15:35 HKEREES —F : : -
95T EH
15:25
THBEZ] 16:2204H~108)  16:0011 B ~3A)
@ MEBREFADEAFEERA
iEe H U 7K /N il
Sk BESE1430 ZOMOEEBFR15:00, 64XFFR16:00
OZEZEH OYS5J3Z8
OREKZFER (14:40~15:25)
E)aaj‘;ﬁw) Om%H %
AE%% 14:40~15:25
= O%23 O%23 CELY OTBEE |ORZE
OHE (16:30~16:45)
O%ES




THSEE BEREROKERIZTEINES)

EH H X 7K VN ol BARA L
— 8:30 - - D
FROEH £k . ! B/ /e 8:30
| g5 % A e e B L e
' B H02 Ho2 Ho2 Ho2 Ho2
— 8:55 1 8:40
9:40 1 2 3 4 5 9:25
9:45 2 9:30
_1030 6 7 8 9 10 10:15
= 2 VAN 15/\
L 1050 RABER (20%) ( 77)10_30
3 N
11:35 11 12 13 14 15 11:15
11:40 4 11:20
16 17 18 19 20 12:05
—12:25 - =
4 =3 16 = 12:55
—13:15
L {a. RABERE (20%) (159)
13:35 . =5
14:20 21 22 23 24 25 13:55
14:00
14:25 BYNDE 14:40
6 w1 H5TER
15:10 26| 7777 27 28 14:45
' 1380 | RBUDZ | 1595 | RUDZ | RUDZ
e AR ‘ E® | ER
—15:35 REREES
HS5TEH
15:25
THBEZ] 16:22048 ~108H) 16:0011 B ~3A)
® MFREREFHADEFEREA
i A X K VN il
SEmLEz| BERE1430 TOMDEESKEFE15:00, 688FFE16:00
OZEZ =% 0550 EH
ORKZFER (14:40~15:25)
?737‘5%51) OM%H =
D EE 14:40~15:25
X% OHZE OHZE OHEZE O=ERiTatE |O%2E
OWHE (16:30~16:45)
oS




